HEMINXIR (23.11.14)

0119 149 313, 53 $4-30)
T2 27334,

O oA7x) Zokd PApitsh FEDA ST WAl
A} AT 142399 79022 25 Yo

* (A2F A5 39 50 53) $) 930, B3 93, 2F 8, A 83,
259 7 5

g G3<

‘4
(
(
P

SEELRE IR R R PR T ERNES

O N2>} 29 3 3
29407 s 32
249 °13 F 2715 A
ov, = wol%qq.

0 49 S0F R4S 24 9By

O 11% 1099) 248 92 J
222013, 5] 23D S22 995e



HeH

IXE ('23.11.14)

sl EXEREE BRI

O

119 1394 °1F, F°k2 x4} ¢ad 3k 334
Fd A #5557 25 MY 5F
Y=

* 119 1~2%57H10.30~11.10) 54 33} A3 2000& F 12204 3 I8

) epakals V324 3,

O A 2T o3 IZHI 3 240, P28 9} 2739

O

SEEREERIERTEE P EENE

A4 134> 3= 0.068 W) 22 w)2ke]H 0.089 w2
ojake) 1, #4137 FHZ 0.060 #H| 2 w)abd)H
0.082 ¥l 23 v)alo]lwy, AFHAaT HHPF 6.7 A2
o akel]H 7.0 W 2F v)qle) G

* (***Cs) <0.068~<0.089Bg/L, (*"Cs) <0.060~<0.082Bq/L, (°H) <6.7~<7.0Bq/L

O o] WHO 9% ¥ >3 ﬂlﬂl AW FE FF5oF,
FF ol3NE 53 vig< A} A2z gl
AsY =

< 3. 218 A3 >

0982z, 02 399 o1 SY 543 53 43
A8 FLER5.



BEFNXE ('23.11.14)

] 9A, Y 513 E3ke)v)

O A% 119 29 $33 W34 947 51439 429
Yoz, NPHLIT 3YF o DAL AN Y
N3 FF N 1DES Y T3 A5

O RS ¥EZTF 35 °lF LA A A2} 0
ﬂlfli 28 P 11€¥ 19 13,967%/5kgol A
oA 11% 13¥-2 11,640%/5kglo. 2
A v A.3% WY A9 A15.9% AAas Y H-.

O Fo2x 43 ¥ ERE 2949 584 F Foz2
SEED #iou 399 >hdo) 4 53 o3z
$49 % Q=2 A5 xFA3 .

O 9<s22, A 53 A9 438 2=2A 5449

O A 109 213, A 5390 79 25 ) &5}
A 22 AHo)9d 20214 6.99 FHEF o
SR EEE I E UL T

O AL Ao AR 932 v Fshd A2, 33, I8
W Z3je) A 1210 Folo) 532 god, B33
ol A weh SF0) 2ol No2 BAAYZI .

212103 3 99 25 A o) 9303, 280 F ¥

O o) AN xulAHSo] A2 v Eskd S oA

4R S Z44F0) PP $45a AR
AL 2ol F% A A o) el

_3_



BEFNXE ('23.11.14)

O RAAH AL b2 FA<I o

< 2. %F dojz A9 >  x 38" ¥9L 828 nyiy In

[]

[]

O

O 29% o

SEEEEIEEE

=299 3441113 TAY Aol
45

3 3=9 33,
4 o AL 2 I RNAL 9SS B

Ry .

(0N

A5 BN H AN ARANNE e 143~177
28 (Bq)S HF545F S99, WS28AQ 3
1,500Bq% ¢=E% 34,

A} 2y delE L,

ML H53NA 9.2~17cps, AEr=o4 4.5~7.4cps,
o] 3 Zo|H 5.1~6.2cps>} WA 3HA)3)e ZA =YD,

2 FZF2 A2 Hg 19.074) A 59 (m?),
AN H ST 2312 14,860~15,1979 A 0] (mP) >}
27359, A A9 Wl Y5 FAPFY .

2A%= £ 5,2344) A 395 (m®) R 2,
Az 2 WSS 2 76119 W22 (Bg)ol S5



BEFNXE ('23.11.14)

<3 359 9P AL HF HF5& 5= 3Y 2H >

(] 2208 Zo] oJ4)(11.13) 2N 3329 98 Y2
HYY AEFFA2 55 54 A& o=l 5.

0 =348 992239 3km o)A #1000 PN
119 129 AL A5 N2 34 335 HRFI

O 25 oAz a5 5)F = (0)°3 700¥ 22 (Bq)
n ke 2 d)EF 5 H.

% 119 13 43 3km ° 10°) BH A554 55(Bg/L) : <4.6 ~<7.8

[ o)< =



